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library IEEE;
use IEEE.std_logic_1164.all;

entity COMB is
port ( A, B, C : IN std_logic;
F, G : OUT std_logic );
end COMB;

architecture RTL of COMB is
signal INDATA : std_logic_vector (2 downto 0);
signal OUTDATA : std_logic_vector (1 downto 0);
begin

INDATA <= A & B & C;
F <= OUTDATA(O);
G <= OUTDATA(1);

process (INDATA) begin

if (INDATA = "000")then
QUTDATA <= "01";

elsif (INDATA = "001")then
OUTDATA <= "00";



elsif (INDATA = "010")then
OUTDATA <= "01";
elsif (INDATA = "011")then
OUTDATA <= "01";
elsif (INDATA = "100")then
OUTDATA <= "01";
elsif (INDATA = "101")then
OUTDATA <= "00";
elsif (INDATA = "110")then
OUTDATA <= "11";
elsif (INDATA = "111")then
OUTDATA <= "11";
else
OUTDATA <= "XX";
end if;

end process;

end RTL;
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library IEEE;
use IEEE.STD_LOGIC_1164.all;

entity DECODER3_6 is

port ( En : in  std_logic;
A : in  std_logic_vector(2 downto 0);
Y : out std_logic_vector(5 downto 0));

end entity DECODER3_6;

architecture COND_DATA_FLOW of DECODER3_6 is

begin

-- USE BOTH if and case
-- HERE, WRITE YOUR OWN DESCRIPTIOPN!
process(En,A)begin

if( En = ’0’ )then
Y <= "000000";
elsif( En = ’1’ )then



case A is

when "000" => Y <= "000001";
when "001" =>Y <= "000010" ;
when "010" => Y <= "000100" ;
when "011" => Y <= "001000" ;
when "100" => Y <= "010000" ;
when "101" =>Y <= "100000" ;
when "110" => Y <= "000000" ;
when "111" =>Y <= "000000" ;

when others => Y <= "XXXXXX";

end case;

else
Y <= "XXXXXX";
end if;

end process;

end architecture COND_DATA_FLOW;
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Report : area

Design : DECODER3_6

Version: 2003.06

Date : Wed Nov 15 23:55:58 2006
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Library(s) Used:

class (File: /usr/local/synopsys/U-2003.06-dc/libraries/syn/class.db)

Number of ports: 10

Number of nets: 15

Number of cells: 11

Number of references: 4

Combinational area: 17.000000

Noncombinational area: 0.000000

Net Interconnect area: undefined (Wire load has zero net area)
Total cell area: 17.000000

Total area: undefined
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design_analyzer> report_timing -path full -delay max -max_paths 1 -nworst 1
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Report : timing
-path full
—delay max
-max_paths 1
Design : DECODER3_6
Version: 2003.06
Date : Wed Nov 15 23:55:58 2006
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Operating Conditions:
Wire Load Model Mode: top

Startpoint: A[2] (input port)
Endpoint: Y[3] (output port)
Path Group: (none)

Path Type: max

Des/Clust/Port Wire Load Model Library
DECODER3_6 05x05 class

Point Incr Path
input external delay 0.00 0.00 £
Al2] (in) 0.00 0.00 £
u17/z (Iv) 0.92 0.92 r
U19/Z (ND2) 0.55 1.48 f
U12/Z (NR3) 0.96 2.44 r
Y[3] (out) 0.00 2.44 r
data arrival time 2.44

(Path is unconstrained)
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Report : area

Design : DECODER3_6

Version: 2003.06

Date : Thu Nov 16 00:14:50 2006
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Library(s) Used:

class (File: /usr/local/synopsys/U-2003.06-dc/libraries/syn/class.db)

Number of ports: 10

Number of nets: 30

Number of cells: 26

Number of references: 5

Combinational area: 33.000000

Noncombinational area: 0.000000

Net Interconnect area: undefined (Wire load has zero net area)
Total cell area: 33.000000

Total area: undefined
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design_analyzer> report_timing -path full -delay max -max_paths 1 -nworst 1
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Report : timing
-path full
—delay max
-max_paths 1
Design : DECODER3_6
Version: 2003.06
Date : Thu Nov 16 00:14:50 2006
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Operating Conditions:
Wire Load Model Mode: top

Startpoint: A[2] (input port)
Endpoint: Y[0] (output port)
Path Group: default

Path Type: max

Des/Clust/Port Wire Load Model Library
DECODER3_6 05x05 class

Point Incr Path
input external delay 0.00 0.00 £
Al2] (in) 0.00 0.00 £
U25/z (IVI) 0.24 0.24 r
U26/Z (ND2I) 0.12 0.36 f
U29/Z (IVI) 0.29 0.66 r
U45/Z (ND2I) 0.12 0.78 f
U46/Z (IVI) 0.20 0.97 r
Y[0] (out) 0.00 0.97 r
data arrival time 0.97
max_delay 0.00 0.00
output external delay 0.00 0.00
data required time 0.00
data required time 0.00
data arrival time -0.97
slack (VIOLATED) -0.97

1
design_analyzer>

ogd:33
Oo00oooooooo:0.97
00000000000 0O:A2
000000000 oooo:Yo)
ooooo

obooOooooboobooooooboobooboboooooobon
oboboooobooooobobooboooboboboboooboon
gboboobooboooobooooboobooon

10



